Rattelseblad till SOU 2014:40

Sida 521, avsnitt 21.1.1, Tabell 21.3. Det ir fel i raden Finansierings-
behov f6r Ar 1 och i raden Summa f6r Ar 1 och Ar 2.

Nuvarande lydelse
Ar1 Ar2 A3 Ar4 Ar5 Aré
Finansieringsbehov 91 -5,3 -2,6 -1,0 0 0
Periodiseringsfonder 15 1,5 1,5 1,5 15 1,5
Séakerhetsreserven 0,5 0,5 0,5 0,5 0,5 0,5
Halverade forlustavdrag 5,2 41 2,6 1,9 15 1,1
Summa 24 0,2 2,0 29 35 31
Ska vara
kr1 A2 A3 Ard Ar5 Are
Finansieringshehov -9,6 -5,3 -2,6 -1,0 0 0
Periodiseringsfonder 1,5 1,5 1,5 1,5 1,5 1,5
Séakerhetsreserven 0,5 0,5 0,5 0,5 0,5 0,5
Halverade forlustavdrag 5,2 41 2,6 1,9 1,5 1,1

Summa -24 0,8 2,0 29 3,3 31
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